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O DPCEADNFEEFTMEFEITOI_LZEME LT ZHBSEOXLEDRIR VB H
NBEDEEFZTMT A-ODEREMERET 51, FH26F4ANLFR
27F3RAFTHRKEEERICONT, MPHEFFER EREICEICER I XV TL
7 MEHR (PERBMEREREICEOCER 1 FHREL,

! 1
! !
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2. HHRHOEFHAE - BR

O BMEAE

> 25 F 12 A 13 BFEBRE~OREICEDE, £HOBREITOVWTIEE=SFY Y
JEHR (EFIERE) [TOWTEHZELT.

> FR26 FE (FR 20 F4A~F/K 21 £3A) ORREEFICHRDIT—2 (81160
B O55. SFELVORRELRSBENVREANOBENH > BEEFEZRINLI-T—
2 (910207 H) #HoHOREE L1z,

> T2 2FE7 ALK, HRABXBEFELEINLA. FHR18FEMFHK2 1FEET
Z7BA~12R0ADRAETH>FZeh b, SEDEKHICEVTIE. DBRELRDT-
HD6MA (7TA~12R8) KHLQBFLEINI-FR2IEENLFR26FE1 2
NA (4A~3A) KD EYDEHZEITo 1=,

O RENMRERY - PHHRT—42

RRRE (B) 100 FRELE | 200 BREAE | 300 FREAL | 400 FRELE 3
MEEREER () 100 A 200 PR3 | 300 BRRiiE | 400 BRAKE | 500 PR i PORELE | B
DPC »f & imb 1 3% - - - - - 80 80
DPC ¥ R fmh I % - - 1 12 15 n 99
DPC ¥ & fm e I 3% 218 381 304 250 135 117 1405
X REFESEHE 218 381 305 262 150 268 || 1584
DPC # {i& 3wk 121 105 25 12 1 1 265
Hi RS 5 E R 905 164 19 4 1 - 1093




E=4YVJEE (EHIHE)
E-AYIDEFEBE LT I EYERBEL. RRAMAE], TARBREI. NERRE
Bniml. DREEEDIKR]. TBARER . BEEER] &L, [R1-1]1 ~[&7—1]
FCRENGHBEET L1z,

(R1—1] ZlRBBDFHDOFERER

(6 7 A)
—— FRH2EE | TR2OEE | TRUEE | TRO5EE | TR264EE
6 MmA) 6MmMA) 6MmMA) 6MmMA) 6MmMA)
DPC it Sl I B 15.68 15. 33 15. 01 14.71 14. 34
DPC it Sl I B¢ 13.73 13.44 13.15 12.98 12.71
DPC it &2 e I B¢ 14.53 14. 26 13.98 13. 83 13. 42
DPC % {5 il 15.74 15. 53 15. 39 15. 14 14. 42
HEEE R 12.82 13. 81 14.59 14. 44 11.96
(12 » B)
- THR2OBEE | THRUEE | TR EE | 26 FE
(12 mA) (12 mA) (12 mA) (12, A)
DPC i S fmle 1 2% 14.57 14.29 13.99 13.67
DPC 3t S fplise I 2% 12. 89 12.64 12. 46 12.23
DPC 3t S fps e I 2% 13.67 13.44 13.27 12.92
DPC £ fi s 14.92 14. 91 14. 67 13. 84
S T e 13.82 15.22 14.52 12. 84




(£2—-1] mWKRFAE

(6 7 A)
— FR22EE | ERBEE | FHRUEE | FRB5EE | FTHR26EE
6MmMA) 6MmMA) 6MA) 6MA) 6MmMA)
DPC i S flse I 2% 81. 6% 81. 6% 81. 6% 81. 4% 81. 6%
DPC %t S fplie I 2% 87. 1% 87. 4% 86. 9% 86. 4% 85. 8%
DPC 3t &2 fps e I 2% 80. 1% 80. 1% 80. 0% 79. 7% 79. 8%
DPC & fi& il 77.3% 77.3% 75. 9% 75. 4% 76. 3%
HESE TR 77.3% 78. 8% 76. 5% 76. 2% 77.3%
X E D ERER LR <
(12 » B)
. TR2OEE | TRUFE | TR2BEE | TH26EE
i
(12 mA) (12 mA) (12 mA) (12 A)
DPC i S fmle 1 2% 81. 5% 81. 3% 81. 2% 81. 7%
DPC 3t S fplise I 2% 87. 7% 87. 0% 86. 5% 86. 3%
DPC 3t &2 fps e I 2% 80. 7% 80. 5% 80. 2% 80. 5%
DPC & {ffh 77.9% 76. 1% 75. 7% 77. 0%
3 B R 79. 8% 75. 3% 76. 4% 78. 3%

X & 2 BB LR <




[(R3—1] MREICKDHMEDE - BEK

(6 4 H)
— TR 2 &R | FR23EE | ER24EE | FRR25EE | TR 26 EE
6mA) 6 mA) 6mA) 6mA) 6 MmA)
DPC it S fwlie 1 2 7. 5% 7.7% 7. 9% 8. 2% 8. 2%
(1 FESR LY BER) 89.4 93.5 98.7 103.8 105.5
DPC i Syl I 3% 13.5% 13. 8% 14. 4% 14. 9% 15. 4%
(1 FESR LY BERK) 142.0 147.9 156. 8 164.3 173.7
DPC it 5 fos i I 3¢ 14.1% 14. 6% 15. 1% 15. 8% 16. 2%
(1 FEER A=Y BEH) 57.0 59.5 61.9 65. 6 68. 5
DPC % {4l 14. 4% 14. 0% 14. 4% 14. 5% 14. 9%
(1 FEER A=Y BEH) 18.8 18.1 20.7 21.1 24.9
HESE TR 12. 4% 13.1% 12. 0% 11. 4% 13.5%
(1 FER A=Y BEK) 4.8 5.6 11.3 10.9 8.7
(12 4+ /)
— TH2BEE | FRUFE | TRBEE | FR26FE
(12 A) 12 H»A) (12, A) (125 A)
DPC it S fwlie 1 2 7.9% 8. 1% 8.3% 8. 3%
(1 FEER A=Y BEK) 89.7 94.2 98. 6 100.7
DPC it &4l I 2% 14. 0% 14. 5% 15.1% 15. 6%
(1 FER A=Y BEH) 142.0 149. 4 157.5 166. 4
DPC 3f & 4l I 2% 14. 7% 15. 2% 15. 8% 16. 3%
(1 FEER A=Y BEK) 56. 9 58.8 61.9 65. 2
DPC % {ifslie 14.1% 14. 7% 14. 6% 14. 9%
(1 fEsRr=-Y BEH) 17.1 19.7 20. 1 23.5
R T 13. 7% 12. 0% 11. 6% 13. 8%
(1 fEsRr=-Y BEH) 5.4 10.8 10.5 8.6




(X3 —-2] HRERAKRDOR - BEH HEERARDE

- BER)

(6~ A)
- TR 2EE | PHR2EE | TR2UEE | TR EE | T26EE
6mA) 6mA) 6 mA) 6mA) 65 A)
DPC st e 1 & 14. 8% 14. 4% 11. 1% 12.1% 11. 2%
(1 SR 7= Y BES) 177.0 173.2 138.3 152.3 144.6
DPC 5t &l I ¥ 27. 4% 29. 1% 26. 1% 26. 6% 24. 0%
(1 SR 7= Y BES) 288. 1 311.1 284.8 292. 1 270.5
DPC st & e I ¥ 32. 0% 32. 8% 28. 9% 29. 8% 27. 0%
(1 R 1- Y BEH 129.0 134.1 118.5 123. 4 114.0
DPC & fi& sl 30. 7% 29. 1% 23. 6% 25. 4% 22. 7%
(1 s 1= Y BEHD) 40. 1 31.5 33.9 37.0 37.9
Hi K 5 H E B 34. 7% 35. 1% 23.1% 24. 3% 21.8%
(1 s 1= Y BEH 13.4 15.0 21.6 23. 1 14.0
(12 4 R)
- FH2BEE | FR2UEE | FTROEE | FHR26EE
(12 mA) (12 mA) (12, A) 12mA)
DPC st i 1 & 14. 5% 11.3% 12. 2% 11. 4%
(1 s 1= Y BEHD 164.3 131.0 144. 4 138.5
DPC i fslke I % 29. 2% 26. 2% 26. 7% 24. 3%
(1 s 1= Y BEHD) 295.7 269.4 277.6 259.9
DPC 5 5 fsle I 5% 33. 0% 28. 9% 29. 6% 27.1%
(1 s 1= Y BEHD) 127.4 111.7 115.6 108.3
DPC i hs 29. 6% 24. 0% 25. 2% 22. 7%
(1 MR- U &) 35.8 32.1 34.6 35.7
H K H E kR 37. 2% 23. 7% 24. 8% 21. 5%
(1 s L= U BES) 14.7 21.2 22.5 13.5




(X3—-3] &K YBNEBEYDE - BEH

(6~ A)
- TR 2FEE | FHR2EE | TR2UEE | TR EE | T26EE
6mA) 6mA) 6 mA) 6mA) 6 A)
DPC st e 1 & 50. 8% 57. 1% 64. 3% 67. 6% 71, 4%
(1 SR 7= Y BES) 605. 9 688. 4 798.9 853.9 920.7
DPC 5t &l I ¥ 50. 0% 53. 3% 57. 5% 59. 8% 64. 5%
(1 SR 7= Y BES) 526.9 569. 2 626. 2 656. 8 725. 4
DPC st & e I ¥ 40. 8% 43. 2% 45. 6% 47. 1% 49. 4%
(1 R 1- Y BEH 164.6 176.3 187.0 195.2 208. 5
DPC & fi& sl 31. 2% 33. 0% 36. 2% 37. 1% 39. 8%
(1 s 1= Y BEHD) 40.7 42.6 51.9 54.0 66.5
Hi K 5 H E B 17. 4% 16. 5% 31. 3% 34. 7% 33. 6%
(1 s 1= Y BEH 6.7 7.1 29.3 33.0 21.6
(12 4 R)
- FH2BEE | FR2UEE | FTROEE | FHR26EE
(12 mA) (12 mA) (12, A) 12mA)
DPC st i 1 & 56. 8% 63. 8% 67. 5% 70. 9%
(1 s 1= Y BEHD 644. 5 740.0 798.3 858.0
DPC i fslke I % 53. 1% 57. 0% 59. 7% 64. 1%
(1 s 1= Y BEHD) 538.6 586.8 620. 8 684.7
DPC 5 5 fsle I 5% 43. 0% 45. 4% 47. 0% 49. 3%
(1 s 1= Y BEHD) 166. 2 175.3 183.8 197.0
DPC i hs 33. 0% 35. 7% 37. 0% 39. 6%
(1 MR- U &) 39.9 47.8 50. 8 62.3
H K H E kR 16. 2% 31. 6% 34. 4% 33. 7%
(1 s L= U BES) 6. 4 28.3 31.2 21.1




(&4 — 1] REEFERROINT AR - BiR]

(6 7 A)
- PR 22 R | R 23R | ERK 24 EE | TR 25 R | ERK 26 EE
6MmMA) 6 MmA) 6 mA) 6 mA) 6 MA)

B 2. 5% 2. 2% 1.8% 1.8% 1.7%
DPC i Sl I 2% BEiR 75. 4% 75. 6% 75. 6% 75. 9% 76. 0%
AR+ R 77.8% 77.8% 77. 4% 77. 7% 77. 7%
B 5. 4% 4.7% 4. 2% 4.1% 4.99%
DPC %t Sl I 2% BEiR 73. 8% 74. 9% 76. 0% 76. 0% 75. 2%
AR+ R 79. 1% 79. 6% 80. 2% 80. 1% 80. 1%
B 5. 0% 4.7% 4. 6% 4.3% 4.3%
DPC >t % e I 3% BER 75. 9% 76. 4% 76. 7% 77.3% 77. 5%
AE IR 80. 9% 81. 2% 81. 4% 81. 6% 81. 8%
B 4.2% 3. 4% 2. 7% 2.9% 2. 9%
DPC £ fig s BER 73.3% 73. 4% 74.1% 74. 6% 76. 5%
AE IR 77. 6% 76. 8% 76. 8% 77. 5% 79. 4%
B 18. 4% 15. 6% 3.3% 3. 7% 4.9%
3 B R BEiR 62. 0% 62. 3% 77. 2% 72. 2% 73. 9%
AR+ B 80. 4% 77. 9% 80. 5% 75. 9% 78. 8%

(12 7 A)
—— TR 23 EE | ER 24 FE | TS FE | TR 26 FE

(12 mA) (12 mA) (125 A) 12 A)

BE 2. 2% 1.8% 1.8% 1.7%
DPC i e 1 2% BEiR 75. 3% 75. 4% 75. 5% 75. 9%
SBRE IR 77.5% 77. 2% 77.3% 77. 6%
BE 4.8% 4.3% 4.1% 4.9%
DPC »t & 4wl I 3% 2373 74. 6% 75. 5% 75. 7% 75. 0%
SAEHEIR 79. 4% 79. 8% 79. 8% 79. 9%
BE 4.8% 4. 6% 4. 4% 4.3%
DPGC >t % e I 3% 2373 76. 2% 76. 4% 76. 9% 77. 2%
B+ iR 81. 0% 81. 0% 81. 3% 81. 6%
BE 3. 5% 2.8% 2. 7% 3.3%
DPC £ fi& 2373 73. 2% 73. 9% 74. 4% 75. 8%
B+ iR 76. 7% 76. 7% 77.1% 79. 1%
BE 16. 1% 3.1% 3. 5% 5. 0%
3k = E Rl iR 62. 1% 76. 7% 72. 6% 73.1%
BE+ R 78. 2% 79. 8% 76. 1% 78.1%




[(R5— 1] BEEEDIRER TBRDIE]

(6 7 A)
- FR22EE | FR2EE | FR24EE | TR 25 EE | T 26 EE
6MmMA) 6MmMA) 6 mA) 6 mA) 6MA)
DPC i S flse I 2% 84. 3% 84. 0% 84. 0% 84. 0% 82. 9%
DPC %t S fplie I 2% 76. 2% 75. 9% 75. 7% 75. 7% 73. 9%
DPC 3t &2 fps e I 2% 73.1% 72. 7% 72. 7% 72. 7% 70. 8%
DPC & fi& il 68. 5% 68. 8% 71. 0% 71. 0% 69. 5%
HESE TR 76. 7% 72. 2% 67. 0% 66. 7% 63. 5%
(12 » B)
—— TR2ERE | TR2UEE | TR EE | THK26EE
(12 mA) (12, A) (12 mA) (125 A)
DPC i S fmlse I 2% 84. 0% 84. 0% 84. 0% 82. 8%
DPC 3t S fplie I 2% 75. 6% 75. 6% 75. 4% 73. 7%
DPC 3t &2 fos e I 2% 72. 5% 72. 6% 72. 6% 70. 6%
DPC (%l 68. 6% 70. 6% 70. 7% 69. 4%
3 B R 72. 0% 66. 3% 66. 0% 62. 5%




(£5—2] BEEDKR MEabz ]

(64 A)
— TRE 22 R | R 23 EE | TR 24 EE | TR 25 EE | AL 26 FE
65 A) 65 A) 6 A) 6 A) 65 H)
DPC i Sl I B 4.7% 4.8% 5. 0% 5. 1% 5. 5%
DPC i 4wl I 6. 1% 6. 3% 6. 6% 6. 8% 7.1%
DPC 3t £ 7 e I 2% 5. 3% 5. 4% 5. 4% 5. 7% 6. 0%
DPC {5 fhs 6. 0% 6. 1% 5. 9% 6. 2% 5. 9%
H 3k 5 B T e 4.5% 6. 1% 5. 3% 4. 6% 5. 5%
(12 7 A)
. FRU2BERE | FR24EE | THR25 EE | 26 £E
iksie b
(125 A) (125 A) (125 A) 12 mA)
DPC i Sl I B 4.8% 4. 9% 4. 9% 5. 4%
DPC 3t 4wl I 6. 2% 6. 5% 6. 7% 7. 0%
DPC 3t £ 7 e I B 5. 3% 5. 4% 5. 6% 5. 9%
DPC {5 iH5% 6. 0% 6. 0% 6. 2% 5. 9%
ke EE R 6. 7% 5. 3% 4.8% 5. 8%

10




(k6 — 1] BAKRER

(47 AR)
- PR 22 ERE | R 23ERE | TR 24 EE | TR 25 R | FHL 26 E£E
4mA) 4 mA) 4mA) 4 mA) 4nmA)

SHERY 9. 2% 9.3% 9.3% 9. 2% 9.8%
DPC il 188 | FHiShL 1.9% 1.7% 1.7% 1.4% 1.3%
FHtH 1. 5% 1. 6% 1. 9% 2. 2% 2. 2%
SHERY 7.8% 7.9% 7.9% 7. 8% 8. 2%
DPC i mIR I3 | FHShi- 2. 2% 2. 2% 1. 9% 1.8% 1.7%
FHtH 1.9% 2. 0% 2. 5% 2. 6% 2. 7%
SHERY 6. 4% 6. 5% 6. 4% 6. 4% 6. 9%
DPC Sl lEE | FHIShL- 2. 3% 2. 4% 1.9% 1. 7% 1. 6%
FHtH 2. 4% 2. 4% 3. 0% 3.1% 3.2%
SHERY 5.1% 5. 3% 5. 7% 5. 7% 6. 1%
DPC #E fifslie FHENt= 2.1% 2.1% 1. 6% 1.5% 1. 5%
FHtH 2. 6% 2. 5% 3. 0% 3.1% 3.2%
SHERY 2. 4% 5. 5% 5.1% 5. 7% 4.2%
HESE TR TSN 3.0% 1.5% 1.7% 1.2% 1.1%
FHtH 2.1% 3.2% 3.8% 3. 4% 2. 5%

(12 7 A)
- R 24 R | ERR 25 4 | EHL 26 EE

(12 mA) (12, A) (12 mA)

SHE R 12. 0% 12. 0% 12. 6%
DPCxiimhe [ B | FHIShi 2. 2% 1.8% 1.7%
Tt 2. 6% 2.9% 3.0%
SHE R 10. 0% 9. 8% 10. 2%
DPC i imie 18 | FHIShi 2. 4% 2. 2% 2. 2%
FHtH 3. 2% 3. 4% 3. 5%
SHEHY 8. 1% 8. 0% 8. 5%
DPC xS imfe B | FHiSht= 2. 5% 2. 3% 2.1%
FHtH 3. 9% 4.1% 4.3Y%
SHER 7. 0% 7. 0% 7. 5%
DPC # fis s FHEnt= 2. 2% 2. 0% 2. 0%
Tt 4.1% 4. 4% 4. 4%
SHE R 6. 4% 6. 9% 5. 3%
HESE TR FHEnt= 2.1% 1.8% 1.8%
FHth 5.1% 4.7% 4. 5%
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(R7— 1) BEEER

(47 AR)
— PR 22 ERE | R 23ERE | TR 24 EE | TR 25 R | FHL 26 E£E
4mA) 4 mA) 4mA) 4 mA) 4nmA)
SHERY 0. 00% 0. 00% 0. 00% 0. 00% 0. 00%
DPC il 188 | FHiShL 0.01% 0. 00% 0. 00% 0.01% 0. 00%
FHtH 0.01% 0. 00% 0. 00% 0. 00% 0. 00%
SHERY 0. 00% 0. 00% 0. 00% 0. 00% 0.01%
DPC i mIR I3 | FHShi- 0. 00% 0.01% 0. 00% 0. 00% 0. 00%
FHtH 0. 00% 0. 00% 0. 00% 0. 00% 0. 00%
SHERY 0. 02% 0. 02% 0. 02% 0. 02% 0. 04%
DPC Sl lEE | FHIShL- 0. 02% 0. 02% 0. 02% 0. 02% 0. 02%
FHtH 0. 05% 0. 05% 0. 06% 0. 06% 0. 06%
SHERY 0. 05% 0. 03% 0. 02% 0. 02% 0. 06%
DPC #E fifslie FHENt= 0. 09% 0.07% 0. 05% 0. 04% 0. 05%
FHtH 0.18% 0. 24% 0.18% 0. 19% 0. 14%
SHERY 0. 35% 0. 34% 0. 08% 0.07% 0. 09%
HESE TR TSN 0.17% 0. 00% 0. 04% 0.07% 0. 06%
FHtH 0. 35% 1.71% 0. 34% 0. 27% 0. 20%
(12 7 A)
— FTRL24EE | TR 25EE | TH26FE
(12 mA) (12, A) (12 mA)
SHERY 0.01% 0.01% 0.01%
DPC i miR 1 3 | FHShL 0. 00% 0.01% 0. 00%
FHth 0. 00% 0. 00% 0. 00%
SHERY 0.01% 0. 00% 0.01%
DPC im0 3 | FHShL 0. 00% 0. 00% 0. 00%
FHtH 0. 00% 0. 00% 0.01%
SHERY 0. 03% 0. 03% 0. 03%
DPC Mg mIRIIE | FHShi- 0. 02% 0. 02% 0. 03%
FHtH 0. 08% 0. 08% 0. 08%
SHER 0. 04% 0. 03% 0. 04%
DPC # {6l FHEnt= 0. 08% 0. 06% 0. 04%
Tt 0. 30% 0. 30% 0. 15%
SHERY 0. 08% 0. 05% 0.01%
HESE TR FHEnt= 0. 09% 0. 08% 0. 00%
FHth 0. 50% 0. 40% 0. 02%




